


14

SP62P PLANETARY PARTS LIST

ITEM DESCRIPTION PART NUMBER QTY HARDWARE
1 Planetary Gear (59T) X80F01 1

1A Screw, Socket Head X80F03 6 M8x35mm
2 Nut, Jam X80F02 1 M16
3 Washer, Split Lock X80F04 1 M16
4 Washer, Flat X80F05 1 M16
5 Pinion Gear (18T) X80F06 1
6 Ball Bearing X80F07 1

7 Planetary Holder X62F09 1*X62F09-DG
8 Set Screw, Socket Head - Cup Point X80F08 1 M12x10mm
9 Oil Bushing X62F18 1
10 Ball Bearing X62F10 2
11 Planetary Shaft X62F13 1

11A Planetary Shaft Pin X80F14 1 M14x38mm
11B Shaft Key X80F12 1 6x6x35mm
12 Washer, Flat X80F20 2 M10
13 Washer, Split Lock X80F21 2 M10
14 Screw, Hex Head - SS X80F22 2 M10x20mm
15 Washer, Flat - D Shape X80F23-1 1 M10
16 Washer, Split Lock X80F24-1 1 M10
17 Screw, Hex Head X80F25-1 1 M10x25mm
18 Rear Guard, Fixed X62J32-33 1

18A Screw, Hex Head - SS X80F16 6 M5x12mm
19 Access Plug X80J34 2
20 Tube Wireway X80J31A1 1
21 Connector X80J31 2

22 Microswitch, Safety Interlock X80J35-1 1Microswitch, Safety Interlock - Spc Models X80J35-2
22A Screw, Socket Head X80J36 2 M3x16mm
23 Slide Sheath X80J43-1 1
24 Safety Guard Spring Lock Fixture X80J42 1

24A Screw, Hex Head - SS X80J41 2 M4x12mm
25 Safety Guard Spring Lock X80J39 1

25A Washer, Flat - 2 M3
25B Screw, Round Head - SS X80J40 2 M3x8mm
26 Touch Mass (New Style) X80J43-1 1

26A Screw, Flat Head X10042 2 M4x10mm
27 Gasket X80J44 1
28 Planetary Internal Gear X80J45 1
29 Front Interlocking Guard Assy X62J48 1

29A Screw, Hex Head - SS X80J47 8 M5x12mm
*Use after S/N 7710068 (1 Phase) or S/N 7750061 (3 Phase).



15

SP62P ELECTRICAL SCHEMATIC, 220V MIXER - 1 PHASE

5

S1

S3

S4

3

1

2

4

K1

K2

K1
S2

76 13
14

96

95

S5

A2A1

X1
K1

M1
1~ 

1

1

3

3

5

5

F1

M1  3HP

F2

PE
L2
L1

95

96

97

98

Item Description Qty
S1 Emergency Stop Button 1
S2 Start Button 1
S3 Microswitch, Interlock Guards 1
S4 Microswitch Speed 1
S5 Bowl Jog Button 1
K1 Contactor Coil 220V, 60Hz 1
K2 Timer 1
F1 Overload Relays 1
F2 Spark Killer (Single Phase) 1
M1 Motor: 3Hp, Single Phase, 208V 1



16

SP62P WIRING DIAGRAM, 220V MIXER - 1 PHASE

L1
L2

R
W
GR

R R
R R
R R
R R
R R

R R
R R
R R

1
2

3
4

5
6

7
71

1
2

3
4

5
6

7
71

INTERLOCK
MICROSWITCH

SPEED
MICROSWITCH

L1 L2 T1 T2 T3

L1 L2 T1 T2 T3

T1 T2 T3

M
3HP MOTOR

BL B B

B B B
L1 L2

A1 1 3 5 13

2 4 6 14 A2

T1 T2 T3

CONTACTOR
C-18D

11A-15A

T1 T2

600FMD

OFF SWITCH

1
1

2

2

4
3

3 4 1 2

7

NC NCNO NO

3 4 X1 X2

BOWL JOG ON SWITCH & LAMP TIMER

5
6

7

OVERLOAD
RELAY

B

B

B

WIRE COLOR:
  W: WHITE
  B: BLACK
  GR: GREEN
  R: RED
  BL: BLUE



17

SP62P WIRING DIAGRAM, POWER LIFT MIXER - 230/400V, 3 PHASE

L1 L2 L3 

24 VOLT TRANSFORMER 

G 0V 220V 380V 0V 24V 

12 11 14 15 10 11 7 6 7 9 9 10 2 5 3 16 14 

V1 U1 W1 

V2 U2 W2 

E STOP 
CYCLE  TIMER START 

UP 

DOWN 

.1 .2 
2       3

.3 .4 

X2 X1 

.3 

.3 

.4 

.4 

A2 A1 

L1 L2 L3 

U1 V1 W1 

U2 V2 W2 

T1        T2       T3       NO 

L1        L2       L3        NO 

 1          3         5         13 

 2         4         6         14 

95 N.C. 96       97 N.O. 98 

2  T1   4   T2   6   T3     

95 N.C. 96       97 N.O. 98 

 L1   L3    1 

 R1   T1    2 

 FUSE 500mA  

 FUSE 1A  

 T1 

 2       4       6      22     A2 

T1     T2     T3    NC 

L1      L2     L3     NC 

 1        3       5     21      A1 

 L1   L2      L3     12     17

T1     T2     T3    NC 

L1      L2     L3     NC 

 1        3       5     21      A1 

 L1    L2    L3      16     13  L1       L2        L3        6
10                  15

 2       4       6      22     A2 

U    V    W 17    15 13    15 7 

2  T1   4   T2   6   T3     

4       5 3       4 

6       7

15     10 

6  
 5 14

    
   5

11
    

5 

BOWL LIFT 

POWER SUPPLY 
POWER SUPPLY 
POWER SUPPLY 

3 PHASE 

(3
HP

) M
OT

OR
 

MO
TO

R 
MO

TO
R 

(1/8HP) MOTOR 
MOTOR 
MOTOR 

GEAR 
POSITION 

SAFETY 
LOCK 

7 

9 

10 9 

LIMIT 
UPPER 

11 12 

LOWER 
LIMIT 

16 14 

9 

12 11 14 15 10 11 7 6 7 9 9 10 2 5 3 16 14 

 FUSE 500mA  

CONNECT WIRE 
TO APPROPRIATE 
TRANSFORMER TAP 
FOR 220V OR 380V 
MIXER POWER RATING 

1 15 R1 



18

SP62P ELECTRICAL SCHEMATIC, POWER LIFT MIXER - 230/400V, 3 PH

F1 Fuse 250V/500Ma (5X20) KM1 Contactor
F2 Fuse 250V/500Ma (5X20) KM2 Contactor, Raise
F3 Fuse 250V/1A (5X20) KM3 Contactor, Lower
S1 Emergency Stop Button SQ1 Microswitch (Transmission Gear)
S2 Start Button SQ2 Microswitch (Interlock Guard)
S3 Start Button SQ3 Microswitch (Bowl Lift Safety)
S4 Start Button SQ4 Microswitch (Bowl Lift Upper Limit)
FR1 Overload Relay SQ5 Microswitch (Bowl Lift Lower Limit)
FR2 Overload Relay M1 Mixer Motor

M2 Power Lift Motor



19

SPC62P WIRING DIAGRAM, POWER LIFT MIXER - 230/400V, 3 PHASE

INTERLOCK 
MICROSWITCH 

M 
3~ 

MICROSWITCH 
HEIGHT ADJUSTMENT 

3 HP 

9 10 

1 

OFF SWITCH ON SWITCH 
& LAMP 

TIMER 

NC 
L3 L2 L1 

NO 13 21 A1 

LC1D09 
B7 

CONTACTOR 
50/60Hz 24V 

NC NO 14 22 A2 

T3 T2 T1 

NC 
L3 L2 L1 

NO 13 21 A1 

LC1D09 
B7 

CONTACTOR 
50/60Hz 24V 

NC NO 14 22 A2 

T3 T2 T1 

NC 
L3 L2 L1 

NO 13 21 A1 

LC1D18 
B7 

CONTACTOR 
50/60Hz 24V 

NC NO 14 22 A2 

T3 T2 T1 

24V 0V 

1 

380V 220V 

15 (R1) 

0V G 

T1 

1 L3 L1 

FUSE 

2 T R 

GROUND 
TRANSFORMER 

NC 

NC 

PO
WE

R 
SU

PP
LY

 

GR
OU

ND
 

L L L 

AU
XIL

IAR
Y 

CO
NT

AC
T B

LO
CK

 

POWER 
BOWL LIFT 

MOTOR 
1/8 HP 

GROUND 

11 12 

MICROSWITCH 
HEIGHT ADJUSTMENT 

COM NC 

UP 

COM 
NO 

MICROSWITCH 
HEIGHT ADJUSTMENT 

DOWN 
NC COM 

14 16 

16 14 12 11 15 10 9 7 6 2 5 3 

16 14 12 11 15 10 9 7 6 2 5 3 

9 
9 

9 7 

M 
T1 T3 T2 

OVERLOAD RELAY 

0.63A~1A (BELOW 220V) 
0.4A~0.63A (OVER 380V) 

97 NO  98 NO  95 NC  96 NC 

T1 T3 T2 

OVERLOAD RELAY 

12A~18A (BELOW 220V) 
7A~10A (OVER 380V) 

97 NO  98 NO  95 NC  96 NC 

TRANSMISSION GEAR 
MICROSWITCH 

24V 

0V 
220V 
110V 

0V 
FLANGE TYPE 

ELECTROMAGNETIC 
BRAKE 

CONTROL CIRCUIT BOARD, 
ELECTROMAGNETIC BRAKE ON SWITCH 

& LAMP 

NC 
2 

NO 
3 
X1 NO 

4 

X2 

A 
9P CONNECTOR, MALE 

3 

NO 
4 3 

4 

A 

9P CONNECTOR, FEMALE 

5 2 3 

6 7 10 

15 11 14 

5 2 3 

6 7 10 

15 11 14 

TRANSFORMER WIRING MAY 
VARY IN COMPLIANCE WITH 
MIXER POWER RATING 
(220V OR 380V) 



20

SP62P WIRING DIAGRAM, PWR LIFT MIXER - DIGITAL CONTROLS, 1PH  

OVERLOAD RELAY SETTING:
LIFTING MOTOR BELOW 220V: SET AT 1.9A

PLANETARY MOTOR: BELOW 220V: SET AT 18A

INTERLOCK
MICROSWITCH

M
1~

MICROSWITCH
HEIGHT ADJUSTMENT

3 HP

LC1D18
B7

CONTACTOR
50/60Hz24V

FUSE

MICROSWITCH
HEIGHT ADJUSTMENT

MICROSWITCH
HEIGHT ADJUSTMENT

DOWN

7

TRANSMISSION
GEAR

MICROSWITCH
PRINTED

CIRCUIT BOARD

GROUND

PO
WE

R 
SU

PP
LY

GR
OU

ND

L

TRANSFORMER

L

70uF 500MFD
CAPACITORS

LC1D09
B7

CONTACTOR
50/60Hz24V

LC1D09
B7

CONTACTOR
50/60Hz24V

9

9
9

16A~24A1.5A~2.5A

LC1D256
M7

CONTACTOR
50/60Hz220V

1/8 HP

GROUND
UP

M

L1 L3 1

R T 2

BR
N

GRN

VIO BL
U

YE
L

OR
G

RE
D



21

SP62P WIRING DIAGRAM, PWR LIFT MIXER - DIGITAL CONTROLS, 3 PH

INTERLOCK
MICROSWITCH

M
3~

MICROSWITCH
HEIGHT ADJUSTMENT

3 HP

9 10

NC
L3L2L1

NO13 21 A1

LC1D09
B7

CONTACTOR
50/60Hz24V

NCNO14 22 A2

T3T2T1

NC
L3L2L1

NO13 21 A1

LC1D09
B7

CONTACTOR
50/60Hz24V

NCNO14 22 A2

T3T2T1

NC
L3L2L1

NO13 21 A1

LC1D18
B7

CONTACTOR
50/60Hz24V

NCNO14 22 A2

T3T2T1

24V 0V

1

380V 220V

15 (R1)

0V G

T1

1L3L1

FUSE

2TR

GROUND
TRANSFORMER

PO
WE

R 
SU

PP
LY

GR
OU

ND

L LL

POWER
BOWL LIFT

MOTOR
1/8 HP

GROUND

11 12

MICROSWITCH
HEIGHT ADJUSTMENT

COM NC

UP

COM
NO

MICROSWITCH
HEIGHT ADJUSTMENT

DOWN
NC COM

1416

16 14 12 11 15 10 9 7 6 25 3

16 14 12 11 15 10 9 7 6 25 3

9
9

97

M
T1 T3T2

OVERLOAD RELAY

0.63A~1A (BELOW 220V)
0.4A~0.63A (OVER 380V)

97 NO  98 NO  95 NC  96 NC

T1 T3T2

OVERLOAD RELAY

12A~18A (BELOW 220V)
7A~10A (OVER 380V)

97 NO  98 NO  95 NC  96 NC

TRANSMISSION
GEAR

MICROSWITCH

TRANSFORMER WIRING
MAY VARY IN COMPLIANCE

WITH MIXER POWER RATING
(220V OR 380V)

PRINTED
CIRCUIT BOARD

BR
NVIO

BL
U

YE
L

OR
G

RE
D

GRN





995026		 GFE-SP62P/SPC62P	 REV E	 ECN 1862	 12Feb2015


